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1 Review the central force problem in two dimensions.
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2 State the solution to the central force problem in three dimensions in

quantum mechanics.
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3 Describe the quantization of L2
and Lz in quantum mechanics.
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4 A rotating molecule (in two dimensions) has energy levels
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What are the quantized energy levels? What is the degeneracy of the

3rd lowest energy level?

Itfree

I ¥
(rotation
al

p÷µ]

Allowedenergylevels: Ee=t2l¥¥ 1=011,2,...

3rdlowestenergy: 1 =2 : Ez=t"2z¥#=3k¥

degeneracy'. 5
↳ =-2k,-hi,O,h ,2 k



5 How is it possible to have L2 > max(L2
z)?


